4 N\
= fhEY-S moDELNO): BWP 10008-A2
FEERST ( s1ZE )2 260X143X75MM 11222015
FERESWEGHT): 415¢
N\ J L y,
P g
QZ = =) /Z 7 = - =l
‘ 7 7 Llll T —F
U i —t [T =
==l e
/ ul 1 \
3 i
D @
8 @ ©) @
FFI%%%(NUI\ABER)ZIOOOS—BZ \ Fﬁ%%(NUMBER) 10008-C1 \
Pl AFR(NAME):_E52 EPIVALVE 2 FR(NAME): N 58 HYPOTHECA

M E S5 (P/NO) :BAH10026-A2
#1 BE(MATERIAL):PC(TRANSPARENCE)

Fi(QUANTITY):1 PCS
HH(WEIGHT) : 123 g

T EL 5 (P/NO): BAH10026-A1
4 BHOMATERIAL): ABS(LIGHT GREY:FS20412)

H (QUANTITY) : 1

H i (WEITHG) : 292 ¢

PCS

77 AR (NAME): GRUB SCREW
FUHS (STANDARD): M4 X 20

#1 BHMATERIAL) : STAINLESS STEEL
HIHE (QUANTITY): 6 PCS

g J
(@ FE RS (NUMBER) : 10008-D1 h P 5 (NUMBER) : M4 X 10 )
e AR FR(NAME): B 7K FElGASKET PR AFR(NAME) @ 42 COPPER NUT
B (MATERIAL): #IKRUBBER A% (STANDARD): M4 X 10
I (QUANTITY) : 1 PCS ¥ BHMATERIAL): 4 COPPER
- J =T (SIZE): 197x136x1.8 MM FHEE(QUANTITY): 6 PCS
\ B (WEIGHT): 3 ) P {4 (COLOR): #ilf4 COPPER
(@ 77 45 (NUMBER): KM4 X 20 h 7 S (NUMBER): KN-500-B1 )

PR FRNAME) : B822 2% SCREW LID
T ELR 5 (P/NO) : BAH10001-A3

#1 BF(MATERIAL) : A
FHHE(QUANTITY): 1

BS(LIGHT GREY:FS20412)
0 PCS

|
E

J

(® 7= %5 (NUMBER):PW A4 X 30 ) TS (NUMBER) : S-6

F= 5 2 85 (N AME) i JU2£ SELF-TAPPING SCREW P AFRNAME) : 54T WALL NAIL

HUKE (STANDARD): M4 X 30 B4 5 (P/NO) : BAH10032-A1A2

FEHMATERIAL): £ IRON B (STANDARD): §X6 ¢4-5

FH i (QUANTITY): 4 PCS PEHMATERIAL) : PP(GREY :CM906)
\_ ) FE:(QUANTITY): 4 PCS )
4 FR NAME R sF SIZE (um) | CARTON No. G. W () N.W (kc) FFFEBCRT QuanTITY|  PEAY POLYBAG
/N SAMLL CARTON | 268 X 151 X 83 39 0.532 0.437 1 (pcs) | 410X253 (MMm)
KA BIG CARTON | 688 X 478 X 575 27 27.5 21.5 96 (pcs)




